Lecture 12
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Exercise 1: Assume there are 5 million people in the Vancou- H sohen c";‘
ver area and each creates an average of 1 Mb/s Internet traffic. A ¢ \?,_,&5
What is the total Internet traffic?
Assuming optical fiber that can carry wavelengths from
1530nm to 1565nm with low loss, what is the bandwidth of
one optical fibre? >
Could one fibre carry the above data rate assuming 1 b/s/Hz L.-DN”’\'Q"Q s

spectral efficiency?
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Exercise 2: What is the bit rate of an 5T5-17
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Exercise 3: What are the payload and overhead data rates for
STS-17
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Exercise4: Whatis the maximum timing variation that can be

accommodated by pointer variation?
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